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Short answer questions/problems

1.  What type of project will firms be likely to overinvest in because of conflicts between stockholders and bondholders?  Assume that firms are pursuing stockholder interests.
Projects that increase the risk of the firm.

2.  Bondholders often protect themselves against abuses by stockholders through restrictive covenants.  Briefly explain how these covenants may actually end up hurting both bondholders and stockholders.
Restrictions may prevent actions that would benefit both stockholders and bondholders.

3.  Assume you have determined that the internal rate of return on project A is greater than the internal rate of return on project B.  List (but do not discuss) two of the reasons that the acceptance of project B might actually increase the value of the firm more than the acceptance of project A?
Two of:  project B may:  have larger scale, be dominated by long-term cash flows, be more like borrowing than lending, be less risky.

4.  In the capital budgeting process, we are supposed to include side effects.  What is an example of a side effect that Wal-Mart should have considered when they were deciding whether to build a new Super Wal-Mart on Hewitt Drive in Waco?
Example:  loss of sales at other Waco Wal-Marts.  (there were a lot of acceptable answers).

5.  How should Wal-Mart have incorporated the costs associated with their home office in Bentonville, Arkansas, into their analysis of whether to build the new store on Hewitt Drive?
All of change, none of existing.

6.  Palms Only Inc. is a firm that sells only Palm handheld devices.  In anticipation of opening its first store in Waco, it has calculated the number of Palms that it must sell in order for the net present value of the new store to equal zero.  List two changes that would cause the break-even sales for Just Palms to be lower than expected.
Two of:  increase in price; decrease in variable cost per unit or fixed cost or initial investment or tax rate (as long as P > V).

7.  How would an increase in fixed costs and a decrease in variable cost per unit affect the beta of a firm’s assets?
Increase.

8.  What does a preemptive right accomplish?
Allows stockholders to buy shares or protects existing stockholder claim on income and assets and stockholder control.

9.  What are the two basic reasons that bond ratings are important?
1)  indicates default risk, 2) prevents certain institutions from buying bonds if < BBB

10.  What is the name of the theory that suggests that firms prefer to fund growth with internal funds, then debt, and finally equity?
Pecking order theory
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Problems/Essays

1.   Assume you own shares in McNodalds and that you have become increasingly alarmed by what you perceive as actions by management that enrich themselves at the expense of stockholders.  As a result, you have decided to write a number of proposals which will be voted on by shareholders.  What might you include in your proposals?
(1)  Proposal that requires the majority if not all the members of the Board of Directors to be independent of management.

(2)  Give management incentives to act in stockholder’s interests.

=> Give management stock, or options, or bonuses based on something like EVA that is linked to stockholder wealth

(3)  If firm has high levels of free cash flow, encourage firm to increase leverage by issuing debt and buying back stock.  This helps by:  a)  taking excess cash out of management’s hands so won’t waste it, b)  the requirement to make debt service keeping the pressure on management to perform, and c) allowing management to own a larger percentage of the firm’s equity.

2.  Assume that Crisco Systems Inc. (a firm devoted to using the latest networking technology to solve critical baking problems) is building a new factory to produce its wireless baking pans (the pans communicate with the oven to regulate temperature).  Crisco estimates that the manufacturing facility would cost $30 million to build and would produce net cash flows over the next 25 years with a present value today of $35 million.  Crisco plans to pay for this facility by using $5 million of surplus cash, by issuing bonds that mature 10 years from today for $40 million, and by issuing common stock.  If sales exceed expectations, Crisco estimates that it can expand its production facility at any time over the next 5 years at a cost of $10 million.  The expansion is expected to produce cash flows with a present value today of only $7 million.  Crisco estimates that its existing facilities have a standard deviation of returns of 45% and a beta of 1.2.  Crisco estimates that the new facility will be riskier and thus will have a standard deviation of returns of 55% and a beta of 1.25.  Finally, Crisco estimates that the expansion is riskiest with a standard deviation of returns of 65% and a beta of 1.3.  Crisco estimates that the market risk premium is 8% and that the risk-free rate (APRs assuming continuous compounding) varies according to maturity as follows:  1-month = 0.82%, 1-year = 0.80%, 5-year = 2.30%, 10-year = 3.34%, 25-year = 4.49%.
How will building the factory affect the value of Crisco’s assets?
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NPV = -30 + 35 + 3.32 = +8.32 million
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3.  In class we talked about two basic approaches to determining the required return on a new project by using information about the firm itself.  What are these two approaches?  How are these approaches related?  What potential problems apply to both of these approaches?  
1)  Use average beta of securities issued by the firm then plug this beta into the capital asset pricing model or use the firm’s weighted average cost of capital.
2)  Both approaches reflect the risk of the firm’s existing assets.

3)  a)  The risk of the project may differ significantly from the risk of the firm’s existing assets, or b) the measured returns and betas may not be the true required returns and true betas because of either small sample problems or due to the risk of the firm having changed.
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4.  President Bush’s recent tax cut plan cuts the individual tax rates on ordinary income and cuts even further the tax rates on dividends received and on capital gains.  Assume that the tax cuts also manage to stimulate the economy so that the typical firm generates more profit.   Show graphically and discuss the tax cut plan should affect the total amount of debt in the economy and the debt issued by the typical firm.  
Let: 
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be the tax rate for the marginal investor after the changes.

TD(1) be the initial equilibrium amount of total debt and TD(2) be the equilibrium total debt after the changes in the tax rates.
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Total debt graph:  Both 
[image: image12.wmf])

1

(

*

C

T

and 
[image: image13.wmf])

2

(

*

C

T

start out at Tc but eventually slope downwards as the total debt rises.  
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Individual firm graph:  Both 
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Discussion:  Total debt rises.  The cut in personal tax rates increases the incentive to have debt since less personal taxes will be paid on interest income.  In addition, the increase in profits shifts 
[image: image50.wmf]*

C

T

 to the right (falls less quickly) since the expected tax savings per $ of interest falls more slowly.

The debt for the typical  firms rises.  While the impact of these changes on the tax rate for the marginal investor is unclear, the increase in profits shifts 
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 to the right.  This gives the firm an incentive to issue more debt since the expected tax savings from the debt falls off more slowly.
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